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Cox Proportional Hazards test: 35 
 36 
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 37 
coxph(formula = Surv(dat$time, dat$status) ~ groupmod) 38 
 39 
  n= 108, number of events= 72  40 
 41 
                    coef exp(coef) se(coef)      z Pr(>|z|)    42 
groupmodjuvenile -0.5602    0.5711   0.3359 -1.668  0.09535 .  43 
groupmodpup       0.7356    2.0868   0.2632  2.795  0.00519 ** 44 
--- 45 
Signif. codes:  0 ‘***’ 0.001 ‘**’ 0.01 ‘*’ 0.05 ‘.’ 0.1 ‘ ’ 1 46 
 47 
                 exp(coef) exp(-coef) lower .95 upper .95 48 
groupmodjuvenile    0.5711     1.7510    0.2957     1.103 49 
groupmodpup         2.0868     0.4792    1.2459     3.495 50 
 51 
Concordance= 0.647  (se = 0.039 ) 52 
Rsquare= 0.148   (max possible= 0.996 ) 53 
Likelihood ratio test= 17.26  on 2 df,   p=0.000179 54 
Wald test            = 17.04  on 2 df,   p=0.0001992 55 
Score (logrank) test = 18.61  on 2 df,   p=9.092e-05 56 
 57 
 58 
 59 
Proportional Hazard’s assumption:  60 
 61 
> cxp.assum <- cox.zph(cxp) 62 
> cxp.assum 63 
                    rho chisq     p 64 
groupmodjuvenile -0.109 0.864 0.353 65 
groupmodpup      -0.144 1.427 0.232 66 
GLOBAL               NA 1.670 0.434 67 
 68 
 69 

:  70 
 71 
> log_rank <- survdiff(Surv(dat$time, dat$status) ~ groupmod, rho = 0) 72 
> log_rank 73 
Call: 74 
survdiff(formula = Surv(dat$time, dat$status) ~ groupmod, rho = 0) 75 
 76 
                   N Observed Expected (O-E)^2/E (O-E)^2/V 77 
groupmod=adult    42       28     30.3     0.175     0.346 78 
groupmod=juvenile 30       13     24.1     5.128     8.876 79 
groupmod=pup      36       31     17.6    10.255    15.943 80 
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